GR 11 REVISION:  EXPONENTS AND SURDS
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simplify the following without using a calculator:
21y =9

22 kV5=3

23 m™*3 = 00625

24 2V 42 =9

25 7%- 772 = 48

26 257 427 = 2

27 (7x + 14)(2x - 0,0875) =
28 3 -23" =3

29 167+ B.4% = 4

210 77 4 73 = 392
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Simplify the following without using a calculator:
31 V5 + 9¥5 - 435

32 129 — 3V45 + 6V72

33 (V50 — V72)/V98

34 Waw + War - Wad

35 VIB- V80 + V98

3.6 Vo6& — Vas/ V50
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Simplify the following without using a calculator:
41 35X 2v2

42 —43x(-5V2)

43 W5(-2V2 + 3)

44 2VZ(10V3 — 8V2)

45 VaBxtfyT

46 YI25xT)yE

47 37243

48 Zlifk=1+v3
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Solve for x:
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Simplify the following without using a calculator:
11 37
12 V3
13 @Y

14 492 _ 36Y7 4 2161/
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15 (0,0625)7%.(0,125)~**
16 Y(64n?)?

17 (49m7n")*4

18 (Blxy) 3y )
19 (VT8 (x4
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